% 396-001330

. o Accelerator Tank Fill Kit
SurePoint 9» Flange Fittings with 1-1/2” Hose

Ag Systems

Kit Number: 520-00-1010

Tank kit not included

396-001330 - Accelerator Tank Fill Kit Page 1 Revised: 4/25/2023
2” Flange Fittings with 1-1/2 Hose © 2023 SurePoint Ag Systems, Inc.



fi"é Parts List
SursPoint 515-03-201100

Ag Systems
ITEM NO.| PART NUMBER DESCRIPTION QTY.

1 102-200VBR-90 2” Mounting Bracket - 90 Degree 2

2 102-200VBR 2” Mounting Bracket - Straight 1

3 102-200VSFCF 200 Series Manifold x 2" Male Quick Coupler Std Port Valve 1

4 105-150G 1-1/2” EPDM Gasket 2

5 105-200150BRB  |2” Manifold x 1-1/2” Barb 1

6 105-FC200 2” Manifold Clamp 2

7 106-200CAP 2" Cap 1

8 280-150-ENF 1-1/2” Enforcer Fertilizer Solution Hose 1
Pressure Seal HD Clamp, Size 238 - 1.625" - 2.125” (1-1/4” - 1 -1/2”

9 350-PS238 ENF, WBS or AG200 hose) 2
Hardware Kit - Qty 6 Size 12 x 1-1/4” Self Drilling Screws with Qty 4

10 [384-1004 5/16” Fender Washers !

11 384-1095 Hardware Kit - 3/8” Hex Cap Bolts and 3/8” Flange Nuts 1

12 396-001330 Accelerator Tank Fill Instructions 1

1. Assemble fittings as shown below, using
manifold clamp and gaskets.

2. Using the provided hose clamps, secure
hose between valve assembly and
Accelerator tank hose barb.

3. Using either mounting bracket, secure
valve assembly to desired location using
hardware in kits provided.

Check for any clearance issues and tighten
hardware.

Shown with strainer (not included) and 90 degree mounting bracket.

396-001330 - Accelerator Tank Fill Kit Page 2 Revised: 4/25/2023
2” Flange Fittings with 1-1/2 Hose © 2023 SurePoint Ag Systems, Inc.






